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Mandatory or Optional :
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Sub-Section Id :
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Question Number : 1 Question Id : 2549896418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The list contains programs that accomplish a variety of tasks commonly required on a computer. Most of these programs are
installed with the Windows 7 operating system, such as Calculator, Snipping Tool and WordPad.

Options :

1. # Helper programs
2. % Necessities

3. ® Utilities

4. % Accessories

Question Number : 1 Question Id : 2549896418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T A 3 T B € ST SR TR $ex WR 190 fAfid UdR & H1af o R 6d & | 378 F SfdmaR v
Windows 7 STORTET Ried, S Hagares, RafthT g iR 9808 & U1y $eTd 63 I 8|

Options :

1. ¥ GeOR U
2. % TR
3. % glefads
4. TR

Question Number : 2 Question Id : 2549898415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Which function in MS Excel 2007 returns the individual term binomial distribution probability?

Options :

1. ¥ BINOM.DIST function
2. % PBINOM.DIST function
3. % BINOMDIST function
4. ¥ BINOM.DISTP function

Question Number : 2 Question Id : 2549898415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2007 T I TT BaR 3{eHT-3elT UGl & fgue faaror TuTeadr a1 g2

Options :

1. ¥ BINOM.DIST R
2. % PBINOM.DIST BheRH
3. ¥ BINOMDIST thaRH
4. % BINOM.DISTP haRH
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Question Number : 3 Question Id : 2549899310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keys is referred to as toggle key on a computer keyboard?
Options :

1. % Num lock

2. % Shift

3. % Alt

4. % Control

Question Number : 3 Question Id : 2549899310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FUER FAE B P A o 3 B T ) F T A ARSI 2
Options :

1. % Num lock ((1H ?ﬁ?)

2. % Shift (R

3. % Alt (3{eQ)

4. % Control (Ei?_gpl?f)

Question Number : 4 Question Id : 25498911801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a modulo operator in C language?
Options :

1 . "/ y 0

2. % |

3. %0

4. %)

Question Number : 4 Question Id : 25498911801 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frofafed B eH-31, ¢ YT & T Hisgal iitieR 82
Options :

1. ¥ %

2. % |

3.% 0\

4, %)

Question Number : 5 Question Id : 25498920527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A can be converted into an electronic form and stored in a computer as one or more files.
Options :

1. # wizard

2. % document

3. % pane

4. % device

Question Number : 5 Question Id : 25498920527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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P! SAaCH® wU B uRafdd faar ST 96T § 3R $ex H Th a1 31 B1dl & U H 94 a1 off 9dhdi g
Options :
1. % faems
2. ¢ SlagHic
3. % 09
4. % fearzg

Question Number : 6 Question Id : 25498920569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

The physical parts of a computer that you can touch and see are called
Options :

1. ¥ hardware

2. % goftware

3. # virtual memory

4. % operating system

Question Number : 6 Question Id : 25498920569 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HTR F I YN FT HEATA g 190 Hfaidh =0 I 3T T ST S Fhell 52
Options :

1. ¥ BERR

2. % G

3. % T3 JART

4. % SfTRfET Reew

Question Number : 7 Question Id : 25498924749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The command in UNIX is an enhanced communication program.
Options :

1. ¥ talk

2. % pwd

3. #® read

4. % who

Question Number : 7 Question Id : 25498924749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e (UNIX) § HiNg HHS TP I JIR TIH B
Options :

1. ¥ talk

2. % pwd

3. % read

4. % who

Question Number : 8 Question Id : 25498929729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following memories, not separate bytes but blocks of bytes are being erased at the same time?
Options :

1. # Programmable Read Only Memory

4/38



06/03/2023, 12:16
2. % Erasable Read Only Memory
3. # Electrically Erasable Read Only Memory
4. ¥ Flash Memory

Question Number : 8 Question Id : 25498929729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafiRed &  fora AR H SfeT1-31erT ST3CH T8 afcth S13CH & el U 81 THa H 3361 ) Sfrd) 87
Options :

1. % URTHEd IS e HERT

2. % geold IS el HARY

3. % faggd ¥U 4 S¥olad I 3fi-al qaRt

4.+ ORI AR

Question Number : 9 Question Id : 25498929893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following tabs in MS Word 2016 are formatting tasks like bolding, italicising and changing the font style and size found?
Options :

1. ¥ Page Layout

2. % Insert

3. % Home

4. % References

Question Number : 9 Question Id : 25498929893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 & fgffad & 2 forg 29 & dies, 3ftie A 3R i WIgd auT PR Faa- oI BIH T TR TNl 8id 87
Options :

1. % OV o-313¢

2. % 39

3. 8H

4. % YWY

Question Number : 10 Question Id : 25498929975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following refers to criminally presenting artificial replications of a piece of biometric data to the biometric system in order to
try and gain access?

Options :

1. ¥ Biometric scanning
2. ¥ Biometric spying
3. ¥ Biometric spoofing

4. % Biometric scoring

Question Number : 10 Question Id : 25498929975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 A Y D19 1 fadhed I SRS F HI Yalid Fdl ¢ o siarfd srafes Se1 3 fadt UM & A6 IR aRimfies df
B YA T T T ST 82

Options :

1. % SEAWfeE Wi

2. % gEACE W

5/38



06/03/2023, 12:16
3. v JRACH gt
4. % FOHERCH WINT

Question Number : 11 Question Id : 25498931266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In computing, the specification of a motherboard, such as shape and size, is called
Options :

1. # case factor

2. % features

3. ¥ form factor

4. % chipset factor

Question Number : 11 Question Id : 25498931266 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ST H TRalS & AR O fF MBI iR AMBPR ~ Ppeama 3
Options :

1. % 39 Phacy

2. % By

3. ¢ BIH haex

4. % o ey

Question Number : 12 Question Id : 25498931330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the data transfer rate of USB 3.1?
Options :

1. % 10 Gbps

2. % 5 Gbps

3. % 480 Mbps

4. % 12 Mbps

Question Number : 12 Question Id : 25498931330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
USB 3.1 3 ST RITAIRUI &R &1 52
Options :

1. % 10 Gbps

2. % 5 Gbps

3. % 480 Mbps

4. % 12 Mbps

Question Number : 13 Question Id : 25498933055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A graphic tablet is also known as:
Options :

1. # abook-pad

2. ¥ apuck

3. ¥ apen tablet

4. % apantograph

6/38



06/03/2023, 12:16

Question Number : 13 Question Id : 25498933055 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

it TaAC Bl b 3 7 F oft ST ST 82
Options :

1. % gH-US

2. % b

3. ¥ U ¢l

4. % YT

Question Number : 14 Question Id : 25498933182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The word 'bit' is a short form of
Options :

1. # binary nibble

2. % binary digit

3. # binary word

4. % binary byte

Question Number : 14 Question Id : 25498933182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ewss @I ER@THEl
Options :

1. % §rg) e

2. ¥ SR =

3. % SR Vg

4. % §IERI €8

Question Number : 15 Question Id : 25498933937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a display method that causes a portion of the display to appear like a negative of the regular display?
Options :

1. # Pixel

2. ¥ Reverse video

3. ® Touch screen

4. % Cursor

Question Number : 15 Question Id : 25498933937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 7 3 o1 T o fewat fafdr 3 orass SRur feea &1 uer | Iy fEea & Anfea & S forars dar 32
Options :

1. % fUodd

2. v feadf difgan

3. % TIBPM

4. % IR

Question Number : 16 Question Id : 2549898180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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occurs when an attacker uses an email message to trick a recipient into thinking it came from a known and/or trusted source.
Options :
1. ¥ Website spoofing
2. ¥ Email spoofing
3. # [P spoofing
4. % ARP spoofing

Question Number : 16 Question Id : 2549898180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
9 BT § O Pls AT fHdt AT W= HT IUTN d b [ht SHA-UTDhdl Bt 39 YHR 37 Bl ¢ fb a8 A of fb
T8 I1d a1/ [y id ¥ S g |
Options :
1. % JeTSC YfHT
2. SHA W
3. % 1p Wt
4. % ARP T

Question Number : 17 Question Id : 2549899475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Monochrome laser printer uses toner cartridges.
Options :

1. ¥ white

2. ¥ black

3. ® grey

4. % RGB

Question Number : 17 Question Id : 2549899475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HI1shIH AR fifex AR FIES BT ST HRaAT B
Options :

1. ¥ gba

2. ¢ et

3.% 7

4. ¥ RGB

Question Number : 18 Question Id : 2549899490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If you want to change the page size of the Word Document while printing then the correct option is:
Options :

1. ¥ File->Print->Page size

2. ¥ File->Print->Properties->Finishing

3. ¥ File->Print->Properties->Page Source

4. % File->Print->Properties->Quality

Question Number : 18 Question Id : 2549899490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g 311y fife HRa THT a8 STagic &1 U TS e ST 9184 &, al ot fadhed 182

Options :
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1. ¢ BIsd->flic>Us agd
2. % HrEa->fie>udg-> AR
3. % BEd->Ue Uty I
4. % Bred->fie-uadfawmifadt

Question Number : 19 Question Id : 2549899597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to printing pages, PDL stands for:
Options :

1. # Page Drafting Language

2. % Page Definition Language

3. ¥ Page Description Language

4. ¥ Page Design Language

Question Number : 19 Question Id : 2549899597 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

g8l & fiifén & ded &, pDL F1 QUi wU T B2
Options :

1. ¥ Page Drafting Language (aTﬂ :{Iﬁ"’[ éﬁﬁn

2. % Page Definition Language (ﬁﬂ@:ﬁ')—ﬁ'gﬂ a”aﬁ)
3. % Page Description Language (a\_ﬂ%'@?_uﬂq é’a\_ﬂ)
4. % Page Design Language (a\_r[ %\_:ﬂg:[ a’aﬂ)

Question Number : 20 Question Id : 25498910797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
are also called internal fonts for a printer.
Options :
1. % Soft fonts
2. ¥ Hard fonts
3. ¥ Both soft fonts and hard fonts
4. ¥ Resident fonts

Question Number : 20 Question Id : 25498910797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&I ey & fore siiale wi< Wi a1 mar g
Options :
1. % Fiue Bi<
2. % R WIT
3. % U Bi< 3R gTs Bi<T GHl
4. ¢ ST Bl

Question Number : 21 Question Id : 25498911260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With reference to wireless communication frequencies, the frequency range of 300 KHz to 3000 KHz is known as:
Options :
1. % low frequency
2. % medium frequency
3. ¥ high frequency
9/38
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4. % very high frequency

Question Number : 21 Question Id : 25498911260 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR JAR (wireless communication) \H@ﬁlth & e 7, 300 KHz § 3000 KHz B @ﬂﬁw E3l - % =Y B SE ST B |
Options :

1. % g smgf

2. ¥ T g

3. % 3 AR

4, % 3 3= Mg

Question Number : 22 Question Id : 25498913409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Image is a random variation of brightness or colour information in the images captured.
Options :

1. % blast

2. % sound

3. ¥ noise

4. ¥ voice

Question Number : 22 Question Id : 25498913409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B , PR P TS ZHS A YU (SZE) TT F TSR &1 T e uRad g
Options :

1. ¥ IRC

2. % U388

3. ¢ Fisdl

4. % d1gY

Question Number : 23 Question Id : 25498913469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a guided data transmission media?
Options :

1. #* Radio wave

2. % Microwave

3. # Satellite

4. % Optical Fiber

Question Number : 23 Question Id : 25498913469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafeife 3 4 P, v IR Se gt s &2
Options :

1. % & AT

2. % Hgshldd

3. % IUUE (Jcdse)

4. 3HIPHd BIFR
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Question Number : 24 Question Id : 25498918493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the steps to print the test page in Windows 10?

Options :

1. ¥ My computer->Printer and Devices->select printer->right click to see Properties-> click on ‘Print Test Page’ button

2. # Home->Printer and Devices->select printer->right click to see Properties-> click on ‘Print Test Page’ button

3. ¥ Control panel->Devices and Printers->select printer->right click to see Printer Properties-> click on ‘Print Test Page’ button

4. % Control panel->Printer and Devices->select printer->right click to see Properties-> Page Source->click on ‘Print Test Page’ button

Question Number : 24 Question Id : 25498918493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RS (test page)ﬂ’ﬁﬁ?ﬁ%ﬁ‘lﬂwm%‘?

Options :

1. ¥ My computer (HIg HFCY)->printer and devices Uex 3R fgarga)-> printer I P> properties o & fog Wge faasd di>
‘print test page’ dcq WX fda® ®|

2. % Home (Eh'q)->printer and devices (ﬁa 3R m-> printer I P> properties o & forg NECESEY P> “print test page’
§ IR foietep B

3.+ Control panel (m a_"IT'I')—>printer and devices (ﬁﬂ 3R %?:n%?r)» printer I P> properties <@ & forg Xrse faad He->
‘print test page’ dc UX @ |

4. % Control panel (@T’T a:ﬁ’f)->printer and devices (ﬁa 3R %TJI'I%F)—> printer I B> properties <@ & forg Wse fodd He->
page source(aﬁf Fﬁﬁ)-> ‘print test page’ dc- UX |

Question Number : 25 Question Id : 25498918579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does IPv4 stand for?

Options :

1. ¢ Internet Protocol version 4

2. % Internet Protocol verification 4
3. # Internet Product version 4

4. % TInternet Protocol validation 4

Question Number : 25 Question Id : 25498918579 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IPv4 1 0T 0 &7 87
Options :

1. # Internet Protocol version 4 (5' e Uleidbia aTrﬁ 4)
2. ¥ Internet Protocol verification 4 (3 e UieiId ARt 4)

3. ¥ Internet Product version 4 (¢3¢ UlSdc aoH 4)

4. ¥ Internet Protocol validation 4 (33?313 Hielpld dferae 4)

Question Number : 26 Question Id : 25498920746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to web interface logs, which log displays start and end of each sessions?
Options :

1. ¢ Traffic log

2. % System log

3. ® Threat log

4, ¥ Unified log
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Question Number : 26 Question Id : 25498920746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

9 B A & HaH &, HH-91 A1 TS T & TR 3R 3id H UGRId Bl 52
Options :

1. ¢ e @

2. % Rew

3. % gTdM

4. % gEBISS AM

Question Number : 27 Question Id : 25498922036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

KRACK attacks can be prevented by

Options :

1. ¥ changing the parts of the code responsible for UDP handshake
2. ¥ changing the parts of the code responsible for TCP handshake
3. % changing the parts of the code responsible for HTTP handshake
4.+ changing the parts of the code responsible for WPA2 handshake

Question Number : 27 Question Id : 25498922036 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

KRACK 31¢% &1 fhdch GRT AT o Aehall 82

Options :

1. ® g3 (UDP) §SXF & fTL FoTHeR HIs & fexdl & Seaar

2. % A (Tep) TSP F oy R ®Is & ol &) sgddr

3. % WA AR (HTTP) TSP & o DR HIs F foxl & seads
4. ¢ SYTLT2 (WPA2) RS2 & forg fSTiieR o8 & Tl &l deaas

Question Number : 28 Question Id : 25498924025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to lock the screen in Windows?
Options :

1. ¥ Window Key + O

2. % Window Key + S

3. ¥ Window Key + L

4. % Window Key + M

Question Number : 28 Question Id : 25498924025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

faSie T @il 3 & U Hars e |32
Options :

1. # Window $eil + O

2. ¥ Window $oil + S

3. ¢ Window il + L

4. % Window $oil + M

Question Number : 29 Question Id : 25498924179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a real time operating system?
Options :

1. % VxWorks

2. % Window CE

3. ¥ RT Linux

4. ¥ PalmOS

Question Number : 29 Question Id : 25498924179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

Praffed & 3 S0, 1o Jad erea siwfeT Red 7?2
Options :

1. ¥ VxWorks

2. % Window CE

3. ¥ RT Linux

4. % PalmOS

Question Number : 30 Question Id : 25498925415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In oftline UPS system, in the event of mains failure:

Options :

1. % transfer switch connects the power line and the inverter to the load

2. % transfer switch disconnects the inverter line

3. ¢ transfer switch disconnects the power line and connects the inverter to the load

4. % transfer switch disconnects the inverter and connects the power line to the load

Question Number : 30 Question Id : 25498925415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3ftpargT Ups Red &, AT fAWdT (mains failure) & RUFT H 1 gaT 82
Options :

1. % ZiqwR a9 UTaR @18 3R 3ack &l s Y shisar g

2. % TR g 39 A1g &1 fSThae el o |

3. ¢ TR Rd UTeR 18 $I fExhae ol § 3R 39X &I dl ¥ e g |
4. % TR g 3-ack &I fETHae HRd1 § 3R TR A8 &1 dls J e gl

Question Number : 31 Question Id : 2549896768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bookmarks or favourites folders in web browsers are primarily used for:
Options :

1. % forwarding email messages

2. ¥ capturing screens

3. % saving web URLs

4. ¥ restoring files and folders

Question Number : 31 Question Id : 2549896768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3T TSR] B FHHTR 3R Tharke HiesH BT IuaIT TRed: fhafery faar wimar 82

Options :
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1. % 30 AU BIRAS HA & forw

2. % THIG Bl HER B P fo1T

3. ¢ 99 URL &I 99 & & A

4. % BT3d 3R Biee] &l RER &1 & fou

Question Number : 32 Question Id : 2549897208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The font size of 36 points in MS Word is equalto _ inches.
Options :

1. % 0.125

2. % 0.25

3.40.5

4. %1

Question Number : 32 Question Id : 2549897208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H 36 TlSc BT HBIC qIeSl ST P SRR sldl gl
Options :

1. % 0.125

2. % 0.25

3.90.5

4. % ]

Question Number : 33 Question Id : 2549897431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is NOT available in the Insert tab of MS Word 2019?
Options :

1. # Shapes

2. % Table

3. # Graph

4. % Shading

Question Number : 33 Question Id : 2549897431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 % 39¢ ¢8 | 5 & ¥ & 11 fddhed Iuasy 51 51l o7
Options :

1. %

2. % <9

3. % I

4. QST

Question Number : 34 Question Id : 2549897765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Internet users are connected to the of the desired ISP.
Options :

1. ¥ gateway

2. ¥ hard disk

3. % hub
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4. ¥ track

Question Number : 34 Question Id : 2549897765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
g UGSl aifed ISP & IIS UG
Options :

1. ¢ Tcd

Question Number : 35 Question Id : 2549897932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid email address?
Options :

1. % email.@domain.com

2. % email@domain.com

3. % 1234567890@domain.com

4. % @domain.com

Question Number : 35 Question Id : 2549897932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o 8 9 P 91 U@ 99 -9 139 61 82
Options :

1. ¥ email.@domain.com

2. ¥ email@domain.com

3. ¥ 1234567890@domain.com

4. % @domain.com

Question Number : 36 Question Id : 25498910500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct check box option under When Correcting Spelling in MS Office programs in Proofing options of MS Word 2016.
Options :

1. % Ignore words in UPPERCASE

2. ¥ Ignore words in Lowercase

3. # Ignore words in UPPERCASE and symbols

4. ¥ Ignore words in Lowercase and symbols

Question Number : 36 Question Id : 25498910500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 H JfthT fadedi & M SHIthd Tam & g dHfad T WHT & dgd gl 9 diad fddhed &1 Ugd di |
Options :

1. ¢ 3URHY H o] Pl ST DI

2. % WI3RDY H Yeal DI 3FGE P

3. % 3RPY 3R Yciioh! H ! P SET B

4. % ASRDY AR YiID! H ] BT SCGET BY

Question Number : 37 Question Id : 25498910541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following margin styles is most preferable to draft a business document in MS Word?

Options :

1. % Normal

2. ¥ Moderate

3. ¥ Narrow

4. % Mirrored

Question Number : 37 Question Id : 25498910541 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H fSoi Siagie &1 gTUe dUR &3 & forg Fafafed & 3 &1 91 AfoH RT3 9ol 98 8idl 82
Options :

1. Jd

2. % HigE

3.8 Y

4. % S

Question Number : 38 Question Id : 25498910574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Observe the given figure and fill in the blank with the correct answer from the following options.
The upper triangle on the ruler is known as line indent marker.

A I —
o

Drr-Jg markers on the ruler to change Iindents.

[

Options :
1. % first
2. % middle
3. % Jast

4. ¥ second

Question Number : 38 Question Id : 25498910574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

few 7T fo &1 Sradia B 3R IUD MNYR R ¢! fdoed &1 90 oa Nad ®H & gfd B
EWR S HW AD S A1FH ES¢ AIdY & Y H S oidl 31

4 . TS e

[

Options :
1. ¥ UYH
2. % AY
3. % 3ffcH
4. % fgdra

Question Number : 39 Question Id : 25498910593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arrange the given steps in the correct sequence to apply an indent in MS Word.
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a) Click the top triangle of the indent marker
b) Move it to where you want the first line indent to be positioned
c) To apply the first line indent

Options :
l1.¥ ¢ ab
2. % b,a,c
3. % b,c,a
4. % acb

Question Number : 39 Question Id : 25498910593 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word T $8¢ AR &=+ & fTg T 71T IR0 &1 Tt HH § AU B Il fadbed &I Uga™ di |

a) $8C AR & JaU SURI Y WR fadd B

b) 3 T81 TR & WU 981 31U B oS SS¢ 1 I18d &
) B A3 §S¢ T & forg

Options :

1.¥ ¢ ab

2. % b,a,c

3. % b,ca

4. % achb

Question Number : 40 Question Id : 25498910621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a method of accessing fixed internet for home or office?
Options :

1. ¥ Mobile broadband

2. % Asymmetric Digital Subscriber Line

3. % Public Wi-Fi

4. % Private Wi-Fi

Question Number : 40 Question Id : 25498910621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR I BT H R R ST P TR BT RIpT 9 H F R 2
Options :

1. % Hiasd sieds

2. ¢ AT (Asymmetric) fefored Teumger drsA

3. % YA als-Wlg

4. % Afdqd IE-BTs

Question Number : 41 Question Id : 25498910688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which type of section break does the following icon represent?

!
Options :
1. ® Next page
2. % Continuous
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3. % Even page
4. % Odd page

Question Number : 41 Question Id : 25498910688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

19 Mg fog ToR & YauH 96 & Ueiid HId1 2

Options :

|. ¥ 9Rc U
2. ¥ HY3Y
3. % A4 U

4. % IS US

Question Number : 42 Question Id : 25498910719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following Find options in MS Word 2019 would you select to find words that look alike, but when spelled, are different?
Options :

1. % Sounds like

2. % Match case

3. # Find whole words only

4. % Find all word forms

Question Number : 42 Question Id : 25498910719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 H, el aci+i! cifdhT T ST fae a1l Xsal &1 WioH & AT 311y v BT s fadhed &1 IudiT Hr?
Options :

1. ¥ IS8 A3

2. % BT &

3. % BIES @A de SHIHat

4. % BISS 3id Is BIR

Question Number : 43 Question Id : 25498911501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the option that arranges the given steps in the correct sequence to turn off the capitalisation of names of days feature.

a) Make sure the AutoCorrect tab is displayed.

b) Choose AutoCorrect Options from the Tools menu. Word displays the AutoCorrect dialog box
¢) Click on OK.

d) Clear the 'Capitalize names of days' check box.

Options :

1.¥b,a,d,c
2. % b,a,c,d
3.% b,d,a,c
4. % b,c,d,a

Question Number : 43 Question Id : 25498911501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

f&1 & 1 HUCATSH HRA B AT D g PR & N IR0T Jg1 T MU & | 3 RO & JIfYd HH a1t [ddhed o1 99 B |
a) GFIAT &3 F 3ifct e o veRid g w1 |

b) T B ¥ $ifel dae [admed g1 Word 3iict Hiae STAdNT aed UGRId H=al &

¢) OK IR faaa 1|

d) T & T Hfcesy Y T Siag B fFamR B

Options :

1.¥b,a,d,c
2. % b,a,c,d
3. % b,d,a,c
4. % b,c,d,a

Question Number : 44 Question Id : 25498911878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which option of 'Display for Review' in the Review tab in MS Word 2013 shows the final version with in-line mark-ups?
Options :

1. ¥ All Mark-up

2. ¥ No Mark-up

3. ¥ Original

4. % Simple Mark-up

Question Number : 44 Question Id : 25498911878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2013 & R 29 & foo R Rog &1 9 o T &4 91 fashed 39-a1g- Ardh-31d & A1y 3ifaw Txeprur &1 g=ifdn g2
Options :

1. 3Tef HIh-31Y

2. % I A3

3. % Sfiffora

4. % Riud Ab-3(9

Question Number : 45 Question Id : 25498912488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following can be used to insert a quick calendar in MS Word 2019?
Options :

1. ¥ Quick Calendar

2. % Quick Table

3. # Insert Table

4. % Insert Calendar

Question Number : 45 Question Id : 25498912488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 & e diex $0¢ = & forg e & ¥ forast QUi fomarn S wawetl &2
Options :

1. % fod Ppaiex

2. ¢ fép Cad

3. % ¢ ¢ad
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4. % 3¢ Has

Question Number : 46 Question Id : 25498919193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the Mail Merge process, while adding address block in MS Word 2016, under Specify Address Elements in the Insert Address block
dialogue box, there is/are option(s).

Options :
1. % 1
2.% 2
3.%3
4.4

Question Number : 46 Question Id : 25498919193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 T 0T Tol UfshdT & SR Ue W il SIgd G0, 53¢ Uy &l STAanT aiay § 'Ted ufemey fAfdy ¥ & agd
_ faberdANe g Bl

Options :

1. %1

2. %2

3.8 3

4.9 4

Question Number : 47 Question Id : 25498920600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Google Chrome, Mozilla Firefox, Internet Explorer and Netscape Navigator are examples of:
Options :

1. ® web servers

2. % web browsers

3. # internet

4. #* world wide web

Question Number : 47 Question Id : 25498920600 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS Sh1H, T BRI, Sc3e TRWIRR, 7ewhy AfaieR, I uHt fhad Iamur g2
Options :

1. % I IR B

2. ¥ TR b

3. % 3D

4 % IR ARS AT D

Question Number : 48 Question Id : 25498925304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Quick Access Tool bar is located at the top left corner of the in MS Word 2019.
Options :

1. ¥ Menu Bar

2. % Status Bar

3. ¥ Title Bar

4. % Tool Bar
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Question Number : 48 Question Id : 25498925304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MSWord 2019 " FJUN U HH T b TR caaR fRd giar g
Options :

1. % TR

2. % WA SR

3. ¥ CIRCA IR

4. % < dR

Question Number : 49 Question Id : 25498925310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following methods is used to quickly open an earlier opened document in MS Word 2019?
Options :

1. ®* Open the folder -> Select the file

2. % Close the MS Word program -> Reopen the Word program

3. ¥ Go to File -> Go to Recent documents -> Click on document

4. % Click on the quick access tool bar

Question Number : 49 Question Id : 25498925310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

MS Word 2019 H T8d § et Y ST &I Jeat I @iem & fore g & 3 forw fafty &1 Juai fasan imar 82
Options :

1. ¥ DI Gid -> BIsd BT TG B

2. % MS Word YU 8¢ & -> T& U &I i I Wid

3. v THISd IR WY > I STRIHCYH TR MY -> STRIHCY TR ot

4. % PP THRIY Td IR W faddsd H

Question Number : 50 Question Id : 25498925486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts will help you save your MS Word document while you are working on it?
Options :

1. ¥ Ctrl + S

2. % Alt+S

3. % Shift+S

4. % Insert+S

Question Number : 50 Question Id : 25498925486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

gﬁm&mﬁm Word STagHc TR & $R IR &1, Al U T ¥ DHIF T H1-a1S WATche ATTH! 30 STagic P I d § Tgradl
?

Options :

1. Ctrl +S
2. % Alt+S
3. % Shift+S
4. % Insert+S

Question Number : 51 Question Id : 25498925506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
For which of the following symbols or words can a superscript or subscript in MS Word 2019 NOT be used?
Options :
1. ® Trademark
2. % Copyright
3. % Standard abbreviation
4. ¥ Exponent

Question Number : 51 Question Id : 25498925506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2019 H, Fafafad & ¥ foa udies a1 2reg & fore YuRfSpy o1 Qafeny &1 IUANT 8! fosan o TehdT 82
Options :

1. ® S3HD

2. % PHIURISE

3. ¢ AH® TeT

4. % YTdich

Question Number : 52 Question Id : 25498933755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a central location of various web pages that are all related?
Options :

1. ¥ Website

2. % Web browser

3. # Search engine

4. % Web host

Question Number : 52 Question Id : 25498933755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

My # i guft 99 oo &1 T e U Y H Y S A1R?
Options :

1. ¢ d99Ise

2. % 49 STIOR

3. % o goH

4. % qEgRC

READING COMPREHENSION

Section Id : 2549897050
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897091
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Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 25498921199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Edison

When it is dark, we simply press a switch and the electric bulb gives us light. Do you know who invented the electric bulb? He was an
American named Thomas Alva Edison. Even in his childhood, Edison loved to conduct experiments. With his pocket money, he set up a
small laboratory. His parents encouraged him and helped him in his experiments.

After some time, Edison needed more money to carry on his experiments. So, he decided to take up a job in the railways. He was only
twelve years old at that time. Edison became a newspaper boy and travelled up and down the train to Detroit. He sold newspapers, sweets,
fruits and earned two dollars on the first day.

“Take this dollar, mother. Every night I will give you a dollar from what I earn.” And he kept his promise. A year or two later, Edison
decided to produce his own newspaper. He bought an old printing press and set it up in his railway wagon. He sold a number of copies of
his paper and made more money. With the money he set up a small laboratory in his wagon. When he was fifteen, he met with an accident.
While he was doing an experiment in the laboratory, the train turned round a corner. There was a sudden jolt and a bit of phosphorus fell on
the floor of the wagon and it caught fire. The fire spread and Edison shouted for help. The guard came in and together they were able to put
out the fire. But that was the end of Edison’s services on the train.

But, Edison didn’t give up his experiments and made a series of inventions. In 1878, he began work on an electric lamp. People used
candles and oil lamps in those days. He promised to give them light in two years. Other scientists laughed at him. But he was undaunted.
He worked harder and harder. After one thousand and two hundred experiments, Edison succeeded in making the electric bulb. On New
Year’s Day in 1880, he and his workers put up electric lights in his laboratory. Edison had kept his promise to the people.

Sub questions

Question Number : 53 Question Id : 25498921200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This passage is mainly about Edison’s:
Options :

1. # early experiments

2. % passion for experiments

3. * invention of the electric bulb

4. % promises to people

Question Number : 54 Question Id : 25498921201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When he was twelve, Edison earned money for his experiments by:
Options :

1. # delivering newspaper from house to house

2. % travelling on a train up and down to Detroit

3. ¥ taking up a job selling things on a train

4. % gelling sweets and fruit in the market

Question Number : 55 Question Id : 25498921202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To produce newspapers, Edison set up a printing press in his:
Options :

1. ¥ railway wagon

2. % own house

3. # laboratory

4. % parents’ house
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Question Number : 56 Question Id : 25498921203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Why did Edison’s job in the railway end?

Options :

1. ¥ He had set up a laboratory in the wagon.

2. ¥ He produced his own newspapers in the wagon.
3. % Some phosphorus fell due to a sudden jolt.

4. % A wagon caught fire because of him.

Question Number : 57 Question Id : 25498921204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Other scientists laughed at Edison because:

Options :

1. # he started work on the electric bulb in 1878

2. % they thought he would give up his experiments

3. # he conducted one thousand and two hundred experiments

4. % they thought that his promise was impossible to fulfil

Question Id : 25498921199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Tg T Ja: Uegd & FIRTEI
Options :

1. ® URMY® gdemr (Taquide)
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2. ¢ G&0T (TRTuRT Q) § Hafdd A
3. % Salfaed ded & SMMAHR
4. % A fpg T AT

Question Number : 54 Question Id : 25498921201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RIS PIITRUSTAT 30 TR0 (RTINS 8 47 HHM|
Options :

1. % TR GHERUA STdd g4

2. % YA ¥ ST dh 3MTd-SITd g

3. v XAd T aeg3ff Bt foh! &1 B HRd g

4. % SR § F3T3aT 3R wal 3! faw! Hd gu

Question Number : 55 Question Id : 25498921202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JHER-THA & A6 8, Ueaa A smm/eia-t  # fliféw o waifu fasan |
Options :

1. ¢ YS! & fges

2. % EH W

3. % GGRTRITAT

4, % AT & W

Question Number : 56 Question Id : 25498921203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YoTa B ufeT o1 Ains) &1 ofd ot gomm?

Options :

1. % I, X & (e H YARTRITeT MU 1 &t

2. % 30 & Sl H W: P YHRIRYA BT JeTed bR |
3. % MBS Fed J YS! BRBRY MR TS At

4. A b Fgsd W I HRUT SRT RIS At

Question Number : 57 Question Id : 25498921204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3T AT TS ) gt ST v A ifep:

Options :

1. % UfET A auf 1878 T Safded ded TR B H3AT L& o3 T
2. % I AT P I8 YT TN BT BIS S|

3. % TfEHT A TP FUR &l I Wawr fHu 3|

4.+ 3BT faaR U1 fob TReq o1 fovan ga arar, srevg Tl

QUANTITATIVE APTITUDE
Section Id : 2549897051
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
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Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897092
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 58 Question Id : 25498914321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What approximate value should come in place of the question mark (?) in the following expression?

(You are not expected to calculate the exact value.)

8787 + 343 x /50 =?
Options :
1. ®# 250
2. % 140
3.4 180
4. % 100

Question Number : 58 Question Id : 25498914321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F=Rf@T weat & goa fes (7) F v 9T EneT Faar A e TiiRe? (@ 39 guard 754
T FUTAT FLA T AFEFLTHAT Ao &)

8787 + 343 x /50 =?

Options :

| % 250

, % 140
5 v 180

4 % 100

Question Number : 59 Question Id : 25498928792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The compound interest earned by Suresh on a certain amount at the end of two years at the rate of 8% p.a. was ¥1,414.40. What was the
total amount that Suresh got back at the end of two years in the form of principal plus interest earned?

Options :

1. % %9,414.40
2.%39,914.40
3. ¥ 39,014.40
4. % %8,914.40

Question Number : 59 Question Id : 25498928792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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8% aTTee =aTsr #T aX | & a¥ F g H U N Hiog Tgfa a1 1,414.40 TIT oT| JXIT & 3
I F 3T H Houd AN =S F 79 A avw e aelr o afyr Gadr o

Options :

1. % 39.414.40

2.%39914.40

3. % 39,014.40

4. % 38914.40

Question Number : 60 Question Id : 25498928857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following expression?

(V5—2) =7—+80
Options :
| % 4V5+ 4

5 % 445
3 8 9—4/5

4.4 9

Question Number : 60 Question Id : 25498928857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

=@ e & vod REad (?) F T W FiF @ &I H{ee?
(V5—2)° =2 — B0

Options :

| % H5+4

4B
3% 9= 45

4.¢ 9

Question Number : 61 Question Id : 25498929096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the approximate value of the question mark (?) in the following expression:

(You are not expected to calculate the exact value)

?7=85% o0f 225+ 3296 x 5.01
Options :
1. % 375
2. % 340
3. % 365

27/38



06/03/2023, 12:16
4. ¥ 355

Question Number : 61 Question Id : 25498929096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafofag oive o v () & ®IM 9= T 9= faaen s
(3BT Tl T B 0T T8 BT 8)
7= 225 $H185% + 32.96 X 5.01

Options :
| % 375

5 % 340
, % 365

4 v 355

Question Number : 62 Question Id : 25498929377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A sum amounts to 39,680 in 2 years and to 310,648 in 3 years, interest compounded annually. The sum (in %) is:
Options :

1. ®¥ 7800

2. % 8000

3. % 8400

4. % 8500

Question Number : 62 Question Id : 25498929377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
u U ¥ Trgfy sore 9T 2 ¥ & % 9,680 v 3 I F 2 10,648 @ =rAw T AW (TAT H) F=w
g7

Options :
| % 7,800

, » 8,000
, » 8,400

, % 8,500

Question Number : 63 Question Id : 25498929666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3 3 .
The value of 4 = (V9 — V3 + 1) is:
Options :
3
L # 1+ V9
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, w1+ 33
s x1-33

Question Number : 63 Question Id : 25498929666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

4+ (V8 - V3 +1) 7 7 719 FfEw]
Options :

L% 1439

9 1 +‘E\‘J{§

4% 1-33

GENERAL MENTAL ABILITY AND REASONING

Section Id : 2549897052
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6

Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897093
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 64 Question Id : 25498910061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following words, which one will come second if they are arranged as per their order in an English dictionary?
Options :

1. ¥ Assistant

2. ¥ Assessment

3. ¥ Asbestos

4. % Asterisk

Question Number : 64 Question Id : 25498910061 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

IR Wsg o T 1 afe Tt wredl 1 SFoh Rregah =t & SR quifer & srafid fasar ST 8, oY gk I WR $14 9T Xed ST
Options :

1. ® Assistant

2. % Assessment

3. % Asbestos

4. % Asterisk

Question Number : 65 Question Id : 25498914080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Unscramble the letters in the words given in options, and find the odd one out.
Options :

1. ¥ REAPP

2. % LIENCP

3. ¥ RLTSAPE

4. ¥ BAELT

Question Number : 65 Question Id : 25498914080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

faereat 7 fou U wreal o s1eRt &1 gargmd, 3R faws Wree &Y |
Options :

1. ¥ REAPP

2. % LIENCP

3. % RLTSAPE

4. ¥ BAELT

Question Number : 66 Question Id : 25498919673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that is related to the third number in the same way as the second number is related to the first number.

149 :238::159:7?
Options :
1. % 169
2. %248
3. % 261
4. % 268

Question Number : 66 Question Id : 25498919673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fahed o1 o o S st e § St St U Teiferd § o gust TReam ug e T ¥ et 7

149 :238::159:?
Options :
1. % 169
2.9 248
3. % 261
4. % 268

Question Number : 67 Question Id : 25498919835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ¥ Metre

2. ¥ Furlong

3. % Yard

4.9 Acre

Question Number : 67 Question Id : 25498919835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e TR 2re Fw TTE § S & o e bt RIS A Uh-FH U1 AT € Qe TS U <l T O i A e 81 5 i (affs
d+) e T Ul Y|

Options :

1. % "R

2. % HRAM

3. % 79

4 ¥ Uhg

Question Number : 68 Question Id : 25498919842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. ¥ Arrow

2. % Axe

3. % Kanife

4. % Dagger

Question Number : 68 Question Id : 25498919842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

e TR wiez fu Ty & S & i ek el T O U Q0T ATl § b 1 U AT eg S i @ i 81 I v (affs
g-) Ve T Udl Y|

Options :

1. ¥ dR

2. % BTS!

3. % Jld

4, % DR

Question Number : 69 Question Id : 25498927371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the number of triangles n the given figure.

<2

Options :
1. % 16
2. % 22
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3.9 28
4. % 32

Question Number : 69 Question Id : 25498927371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

<l 7S apal H Byl Bt e 91 Sife |

<>
<

Options :
1. % 16
2. % 22
3.9 28
4. % 32

GENERAL AWARENESS
Section Id : 2549897053
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897094
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 70 Question Id : 2549895298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following religions did the early Vedic Aryans follow?
Options :

1. % Bhakti

2. % Tmage worship and Yajnas

3. % Worship of nature and Yajnas

4. % Worship of nature and Bhakti

Question Number : 70 Question Id : 2549895298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

afe® g & 31 o5 Yol UG fd o1 urer d=d A2
Options :

1. % yfed

2. % Gff gom SR TF

3. ¢ Ui &I goT 3R T9
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4. % UHId DI ol SR Yfad

Question Number : 71 Question Id : 2549899681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India's New Economic Policy announced on 24 July 1991 was known as the LPG or Liberalisation, Privatisation and Globalisation model
under

Options :

1. ¥ the VP Singh led Government

2. ¥ the Indira Gandhi led Government

3. % the Rajiv Gandhi led Government

4. % the PV Narasimha Rao led Government

Question Number : 71 Question Id : 2549899681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR $1 78 3 if B TIWoT 24 AT 1991 B BT 18 2R, oY LPG 311 IgRIHRUT, fAsfiavur 3R dsfiaor Aiga o551 1| 39
TG $% PR DI ISR B JHTA TgT UT?

Options :

1. % didt Rig Ii¥d WaR

2. % e il ARTd WPR

3. % rofig Tieh MR WBR

4. ¢ Ulat RIGFET I19 WRTT WBR

Question Number : 72 Question Id : 25498912551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following gases is a supporter of combustion?
Options :

1. ¥ Hydrogen

2. % Nitrogen

3. # Carbon dioxide

4. % Oxygen

Question Number : 72 Question Id : 25498912551 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFrafafed & 9 S 0 79 35 H 9o 81 82
Options :

1. ® gIESIoH

2. % ECNH

3. % He SRIHRIZS

4. ST

Question Number : 73 Question Id : 25498929954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Eskers are of glacio-fluvial origin. Which of the following statements characterises them?
Options :

1. ¥ They are long, narrow and sinuous ridges of sand.

2. ¥ They are small, irregular mounds of bedded sand.

3. % They are small alluvial terraces.

4, ¥ They are flat-topped terraces.
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Question Number : 73 Question Id : 25498929954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR et} (- vefaTe) He ¥ Teiftd €1 390 ¥ B I 6 I fA=IvaT Sdrar 89
Options :

1.+ A0 & A, 7 3R RRAme R §

2. % Y NG X & Ble, AT IUR &

3. % Y BIC TG SR §

4. % Y GUTC-TAT 3R §

Question Number : 74 Question Id : 25498936878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Velikonda group of low hills is a part of:
Options :

1. # Cardamom Hills

2. ¥ Western Ghats

3. ¥ Eastern Ghats

4. % Nilgiri Hills

Question Number : 74 Question Id : 25498936878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

frarch ugifEal &1 At et T, A & 9 foraet t um 32
Options :

1. % HHY ugTeat

2. % UigHigre

3. ¢ gdfare

4. % fafift ggifear

Question Number : 75 Question Id : 25498937117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Coconut Triangle is located in:
Options :

1. #* India

2. % Sri Lanka

3. ¥ Bangladesh

4. % Maldives

Question Number : 75 Question Id : 25498937117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks :

PIPIC TIPS (FTRTe B el fRud 32
Options :

1. % YRd

2. ¢ didal

3. % AR

4. % HIAdIT
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English Mock
Group Number : 2
Group Id : 2549894472
Group Maximum Duration : 5
Group Minimum Duration : 5
Show Attended Group? : No
Edit Attended Group? : No
Break time : 1
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No
English Mock
Section Id : 2549897054
Section Number : 1
Section type : Typing Test
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Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549897095
Question Shuffling Allowed : No
Is Section Default? : Yes

Question Number : 76 Question Id : 25498941285 Question Type : TYPING TEST Display Question Number : Yes Calculator :
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Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children
have fun during this process as they get to explore new arenas.
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Biodiversity is also called biological diversity. It is the variety of life found in a place on Earth or often the total variety of life on
Earth. A common measure of this variety called species richness is the count of species in an area. Biodiversity encompasses the
genetic variety within each species and the variety of ecosystems that species create. Although examining counts of species is
perhaps the most common method used to compare the biodiversity of various places in practice biodiversity is weighted
differently for different species. The count of animal species that live on land is much higher than the count of those that live in the
oceans because there are huge numbers of terrestrial insect species. Insects comprise many orders and families and they constitute
the largest class of arthropods which themselves constitute the largest animal phylum. In contrast there are fewer animal phyla in
terrestrial environments than in the oceans. No animal phylum is restricted to the land except a few and other animal phyla occur
exclusively or predominantly in marine habitats. Some species have no close relatives and exist alone in their genus whereas others
occur in genera made up of hundreds of species. Given this one can ask whether it is a species belonging to the former or latter
category which is very important. On one hand a taxonomically distinct species which is the only one in its genus or family for
instance may be more likely to be distinct biochemically and so be a valuable source for medicines simply because there is nothing
else quite like it. On the other hand although the only species in a genus carries more genetic novelty a species belonging to a large
genus might possess something of the evolutionary vitality that has led its genus to be so diverse. A second way to weight species
biodiversity is to recognize the unique biodiversity of those environments that contain few species but unusual ones. Dramatic
examples come from extreme environments such as the summits of active Antarctic volcanoes and hot springs or deep sea
hydrothermal vents. The numbers of species found in these places may be smaller than almost anywhere else yet the species are
quite distinctive. More generally areas differ in the biodiversity of species found only there. Species having relatively small ranges
are called endemic species. On remote oceanic islands almost all the native species are endemic. Endemic species are much more
vulnerable to human activity than are more widely distributed species because it is easier to destroy the entire habitat in a small
geographic range than in a large one. The idea of biodiversity also encompasses the range of ecological communities that species
form. A common approach to quantifying this type of diversity is to record the variety of ecological communities and area may
contain. It is generally accepted that an area having say both forests and prairies is more diverse than one with forests alone
because each of these assemblages is expected to house different species. This conclusion however indirectly based on differences in
vegetation structure or appearance rather than directly on lists of species. Loss of various biodiversities due to human intervention
is an alarming issue in the present day world. Various species are dying due to changes in their habitat which are human.
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